PROFESSIONAL
FURNITURE
& INNOVATION

INSTRUCTION MANUAL
Work Table With Waste Chute Hole



PROFESSIONAL
FURNITURE
& INNOVATION

GENERAL FEATURES

General construction in quality stainless steel feeding area;
Dismountable Bench;

Legs tube 40x40 with height-adjustable bat;

Right, left or centre collar available;

Right, left or centre collar available.

CHARACTERISTICS TABLE

Dot Net weight Grpss Packing dimensions
Modelo Product LxPxA (Kg) : Weight WxDxH (mm)
(mm) (Kg)
600x600 600x600x950 12 13.4 650x648x215
700x600 700x600x950 13 14.4 750x648x215
800x600 800x600x950 14 15.4 850x648x215
1000x600 1000x600x950 16 17.4 1050x648x215
1200x600 1200x600x950 18 20 1250x648x215
1400x600 1400x600x950 20 22 1450x648x215
1500x600 1500x600x950 21 23 1550x648x215
1600x600 1600x600x950 22 24 1650x648x215
1800x600 1800x600x950 24 26 1850x648x215
2000x600 2000x600x950 26 28 2050x648x215
600x700 600x700x950 13 15.2 650x748x215
700x700 700x700x950 14 16.2 750x748x215
800x700 800x700x950 15 17.2 850x748x215
1000x700 1000x700x950 17 19.2 1050x748x215
1200x700 1200x700x950 19 22.4 1250x748x215
1400x700 1400x700x950 21 24.4 1450x748x215
1500x700 1500x700x950 22 26.4 1550x748x215
1600x700 1600x700x950 23 27.4 1650x748x215
1800x700 1800x700x950 25 28.4 1850x748x215
2000x700 2000x700x950 27 29.4 2050x748x215

LLO2/0

Pagina2de?7




PROFESSIONAL
FURNITURE
& INNOVATION

PRINCIPLE OF OPERATION

e The operation of the worktops with debris collar does not require energy consumption,
being based on being a support for bags for depositing food waste from an Industrial

kitchen;
ASSEMBLY INSTRUCTION:

1. Identify all the assembly elements (depending on the size and models chosen)

Mounting elements (depending on the dimensions and models chosen)
Back NG
Composed by: 1 Crossbar ~
1 Kit Set 24 x Screws
M6x12 7x Lateral
Screws M5x12 2 /
Transom
1 Top with 2 Side panel
collar ¢
2| Frontand 4 Props
back panel club lees

LLO2/0 Pagina3de?



PROFESSIONAL
FURNITURE
& INNOVATION

2. Assemble the frame according to the picture (apply 16 M6 screws);

3. Apply the back and side rails as shown in the picture (apply 6 M6 screws);

LLO2/0 Paginadde?7



PROFESSIONAL
FURNITURE
& INNOVATION

4.  Fit the worktop and screw from below (7x M5 screws);

INSTRUCTIONS FOR USE

e After assembling the worktop with debris collar install in the desired location.

MAINTENANCE AND CLEANING

e As it contains no electrical parts, the appliance can be immersed in water for more

effective cleaning.

When cleaning the appliance, do not use abrasive products that could damage it. We

recommend the use of a stainless steel cleaner.

LLO2/0 Pagina5de7



PROFESSIONAL
FURNITURE
& INNOVATION

WARRANTY

Q The equipment is guaranteed for a period of 12 months from the date of purchase.

O

The guarantee is valid against original defects, whether material or manufacturing.

O Whenever there is an anomaly in the equipment, it should be returned as soon as possible,
enclosing the purchase document.

O When the guarantee is activated, the damaged parts will be repaired or replaced at the
manufacturer's discretion. In the event of replacement, the damaged parts will become the
supplier's property.

O Any and all faults resulting from poor installation or use/handling of the equipment are
excluded from the scope of the guarantee.

O The equipment will lose its guarantee whenever any alteration/modification or even repair

carried out by the user is identified.

LLO2/0 Pagina 6 de 7



PROFESSIONAL
FURNITURE
& INNOVATION

PNH BY PINHA
RUA DO ALTO - VALE DO GROU - APARTADO 86
3750 - 064 AGUADA DE CIMA
TEL. +351 234622 889  FAX. +351 234 624 044

comercial@pnh-bypinha.pt www.pnh-bypinha.pt

LLO2/0 Pagina 7 de 7


mailto:comercial@pnh-bypinha.pt

